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e <Kk = K =K X <Kk = K0 <K= X <K <= X0k <K= X0 <K <= <X <K= <X <K=
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2 a.\gﬂ\ dj.ﬁ.; L[ ]
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@Lﬂ.}‘ X No; - 3x Ngz - X 6x 2x

47-""'3“ Xf = Xmax | o1 - 3 Xmax | 102 = Xmax 6xmax 2Xmax
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nyp(Crt) =270

Lt -
iR, = e e e e e e e e e = <= e e e e e e e e e e He e e e e e e e e e e e e
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S <0 <K= S0 <0 <Kk < <Kk <K= <X <Kk < < <Xk <0 < <0 < <0 <K e <0 K <0 <0 <0 <0 <X <0 <0k <X X

Ny (Cr T X max creccececereecsrcrstcaceroses (2)
: (1) (-é uag}:_ﬂl.v ¢ Xmax = nl/Z(Cr3+) : (2) =
1n:(Cr**)
np(Cri)=2mn;5(Cr') — nyp(Cri) ==
Hi
L
Cr3+
nl/Z(Cr3+) = 2l 5 )
Okl e
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n n 0 0 ’
iy 8y EY adll Jsan | 1
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n01 — Xf Tloz — 2Xf Xf Xf
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" _ _Jcacos _ 05 e, . = [HyO =V
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CacCo;
H;0% & asal) Jeldiall o) 2
fcacos = noCaC03 — Xmax == Xmax = nOCaC03 - nfCaCO3 Aoyl
X =m0—mf = 1 — 0.5 == X = 5 mmol Xmax
max M M 100 100 max
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M M 2 2
MCV MV g
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Jslaall aas
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5= _ > — = gl § =
Ty MV 100 - 0,01 | %&bl S5
C = 1mol/l
Nocaco, . Moy, 0+ Mocaco, CV . McCv
1 2 M 2z 7 Moo, T T |
100-1-0,01 (e 5aS sian
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o(t) =4,2—-560X(t) =>0a(f) =4,2—-560 X(max)

42 —-o(f) 42-14
X(max) = ce0 - EaD = X(max) = 5 mmol

Al

Xmax

Op + O 42+ 1,4
t=ty,=>0(t) =———7L =

. S—— =28 S/m

t1/2 — 35 mln

—oal ()

Je Lail)

V=2 sl Ay Jelil) s s o | Jeliillde yu | 4
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Cdt dt X = 560 5

1 do; 1
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S <0 <K= S0 <0 <Kk < <Kk <K= <X <Kk < < <Xk <0 < <0 < <0 <K e <0 K <0 <0 <0 <0 <X <0 <0k <X X

= <Kk <K= K0 <K= X <K <= X0k <K= X0 <K <= <Xk <K= X0 <K <= <X <K= <X <K=

¢ il awhall 1
@by Jelaill age g > 4005 dy10j 620 wpeiny Jelaill gladl go - |
P, =2775kPa  alull g : delaill slas wa 1(CO3 ) duuymill daxilll —

€Oy
PV =nRT -5 n, = i
.~ i
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2L 10 138 10

o =15,1.10"" mol
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s gl dwlysll _2
: ellelaioll aglanll clpsll Gl

n _ M b =0,015mol . n

0(NaHCOy) — 7 4 0(CH,CO,H
R M 34 ,

 =cv=1.60.10" = 0,06mol
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(aq) (aq)
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